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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forEQ4AE_E2
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EQ4AE_E2, Day=16 (2025-06-08)

V1, VO/BRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
430

05

466

- 600

- 400

T
N
o
o

FRV (ml d-1)

T
o

optEC0=1800. 0, setECB=2340.0

optPH0=6. 5, setPHB=6.5

0.0

150 -

100 -

50 A

ByWoFv @D16 01:43: ET=466 Fg=420.0 Ro=10.0

T =
(2]
o
o

cumET (ml/plant)

T
S
o
o

T
N
o
o

1.0

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14

16

17

18

19

20

21

22

23

0.8 -

HHE HEE HEE Hi HHE HEE HEE Hi HHE HEE E3 E3 = H§ _%E

B B B B

=
B

£33
B

E3
]

E3
B

=
B

£33
B

E3
B

E3
B

0.6 1

0.4+

0.2~

0.0

750

500 ~

250 -

', 'PPFD_obs’] is missing

A A Warking:

30 4

25 -

20 -

15 4

', "To_obs'] is missing

80 A

60 -

40 ~

Warning: lcol ['RH_obs’, 'RHo_obs’] is m

0.6 1

0.4+

0.2~

0.0

0.0

0.2 0.4 0.6

0.8

1.

0



hour

100

80

145
- 60
145

:00

- 40

115

:35

:05

§_

S B B L B %
9 a8
N Q\S\ —:@/ %\9{) : )\%\

%
T
%

%

3,

R
-



EQ4AE

BYIE) | BRI (F)) | s (EA/ER) | BREE (B/R) | X8 SRR

06:15 75 40.0 0.07 BE| {Ri&e06:15 Fz (REAEHE)
07:15 75 40.0 0.07 BE| 1Ri%e07:15 F3h (RFAEREE)
08:45 75 40.0 0.07 BE| 1Ri%e08:45 Fzh (RFIERSE)
10:45 75 40.0 0.07 RS Rig@10:45 Fz (REAEHE)
12:00 75 40.0 0.07 BE| Ri%e12:00 Fzh (RFAERESE)
13:15 75 40.0 0.07 e BRi%e13:15 Fz (REERSE)
14:35 75 40.0 0.07 BE| Rige14:35 Fz (REAEHE)
16:05 75 40.0 0.07 BS| 1Ri%e16:05 Fz (GREEESE)
23t 600.0 (8%) 320.0 323 KEC: 2340.0, PH: 6.5

TERRHLER 2 STEIELRTF (54.0 :

EORGEBRTHC R IRAE R IE Y (80 vs 93.0))
ZRIASERRIER34. 0 ml.

REXSEMIPH (4.88) H5igEPH (6.2) REK K, BFHRE
RERERIPH (4.88) 5FMPH (6.0) REK K, BFHRE

E K i3k [B] S RECERE Fh ok
[E];%EC 5010.0 K5, EiHBIKECAE& hitER
HEEIHECE (2930.0 vs 5010.0) 5
RERGE B HEREC/PHIE SR, AIRERZIMAEALR SR
EREBPH (4.8) 5REE (6.2) RERK, HRE.
LORGEBIPH (4.8) S5HEAVEN (6.5) REKK, BERE.

34.0), FIREKRFBERE

k> >




EQ4AE_E2, Day=15 (2025-06-07)
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EQ4AE

BYiE) | GEBERTIC (RD) | EBE (BA/FK) | BREE (F/R) | X8 e

05:50 60 30.0 0. 052 B 1Ri%e05:50 Fzh (REAEEE)
06:50 60 30.0 0. 052 BS| 1Ri%e06:50 Fzh (RFIEEEE)
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EQ4AE_E2, Day=14 (2025-06-06)
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